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Practice 2.7 and 2.8 Again  		

Write a two-column proof for each of the following.

1.  Theorem:  If two angles are supplementary to the same angle then they are congruent.
Given:   and  are supplementary;  and  are supplementary
Prove:  









2.  	Given:  ; ;   
	Prove:  
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Write a two column proof for the following.

3.	Given:   and  are supplementary  
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4.	Given:  
	Prove:  
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6.     Given: [image: ] 
       Prove:  [image: ]
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7. [image: ]Given:   and  and  are complementary  
Prove:   
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8. 
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Given: AC bisects BAD.
AC bisects BCD.
1 [image: ] 2
Prove: 3 [image: ] 4
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11. 
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Given: ZABC and £ CBD are complementary.
£ DBE and £CBD form a right angle.

Prove: /ABC = /DBE
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Given: AB 1 BD
BD bisects £ EBC.

Prove: £ 1 and £ 3 are complements.
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Given: C is the midpoint of BD and AE.

Prove: AB =DE
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